ACTFCM 03

ACT-ASSOCIATION OF COMPUTER TEACHERS MALAPPURAM

MODEL EXAMINATION -03
COMPUTER APPLICATION (COMMERCE)

ANSWER KEY
Qn | Ch Value points score | Total
No | No
Answer any 5 questions from 1 to 7. 1 @B 7 AIOE@IBS @2193(6BREI@D ngo@msslelle 5
PART A Each carries 1 score (5X1=5) aG)RODBIM DO AG)PITRH:. 63ICRINIMIo 1 MIEHd PART B
allmo (5X1 = 5)
1 1 |Which among the following is an invalid number? |(38)s 1 1
(38)s , (38)i0 . (386
@969 ®MIGBIENMAUXIEE @RAVIWINUI® MMUB (38)s 1 1
oloK

(38)s , (38)10, (38)6

2 2 |A ... can identify human physical features uniquely.
(QR Code Reader, OCR, Biometric Sensor, Biometric Sensor 1 1
MICR )

M3 UBIRIAIS MOIGUHUD®H:UB @@l 0lond
DalEIWN BRI Daldr@6Mo aRB®) ?
(QR Code Reader, OCR, Biometric Sensor, Biometric Sensor 1 1
MICR )




A program written in High Level Language is
called

(Source code, Object code, Binary code )

Source code

High Level Language @3 ag)@3@3mm G(ldwoalem
ad)(m} alOQ@3AM] .

(Source code , Object code, Binary code )

Source code

The tokens that convey a specific meaning to the

compiler and are reserved for special purposes are |Keywords

called ..........

SHOOMIRIOIN B@] (DM E> @RBLO0 MTBBIM R0

(IBDYB @RHNUUDIEBRUBEEIDI MG Keywords

O [|EAlENM@AIW BSIBOETMIEOS ... ad)0m}

alO@M}.

Pre processor directives start with....... symbol. # (hash)

(@ BEI2VINVB MIBERUREBRUD @R EILBEM®Y # (hash)

................ allam@roleloeny.

Pick the odd one out do ..... while
( while, do ... while , for)

BQLIV® ODMEEONSIEEND:. do .... .while
( while, do ... while , for)

The MAC Address is a unique ID assigned to the ....

of a machine . NIC
( Processor, NIC, RAM , BIOS )

80} OO .........c....... o M@ ISIss

QU@ MAlEAI@ERRI@ Allenave @em MAC

Address. NIC

( Processor, NIC, RAM , BIOS )




Answer any 10 questions from 8 to 27.

8 M@ @B 27 UOEWRBS Gald3(6BRS T3 n@e@meslello 10

aG)RODBINT DTMRo n§)PIMRH> 639BEIMMIMo 2 MIBH0B

PART B |Each carries 2 scores (10X2=20) PART B
alleo (10X2 = 20)
8 1 |If Mg = N;x=11011,, find the value of Mand N . M= 33 1
N= 1B 1 2
Mg = Nig=11011,, @o®@o@d M, N agmmilaiyes mele |M= 33 1
EHEENBOTORD:
N= 1B 1 2
9 2 |RAM refers to the main memory . List out the Any two from the following
different contents stored in RAM when a computer
is in use. » The operating system software.
« The application software currently being used. 2x1 2
 Any data that is being processed.
HHMUIRPSOION (@ IWIME]S OAEAG] @M RAM. @969 OMIGlLNMAIDITE n@o@msslage 66Nz
B0alfISO (IUBOD] o )3eB06NElBlecRemMIdud RAM @3
MUEHE66a]SIM (LIWIME]S OBBSO66BRUD * @0qengloty milgyo
6OMEJ0?
Rl «  dlenlod 9a16@Iuilg|3ee:0nEl@leen M @R leLs 2x1 2
GOVNY HUWA
* GEIOTVG  ©a1QOReE:0MEIBleeM BAQ




10

(a) Define system software .
(b) Write any two components of system software

(a)Any one point from the following

* Programs designed to control the operations of a
computer.

* Programs designed to assist humans in the use of
computer system

* Program which act as an interface between the user and
hardware

(b) Components of system software are
Any two from the following

» Operating system [ Windows |/ Ubuntu / Gnu Linus etc 2x1
« Language processor [ Compiler [ interpreter
« Utility software | Compression tool / Antivirus software /
Disk defragmenter [ back software
(a) milgye @VIRAY EQAUDA MIBQ2llees:. ©®961® @MIGleanMAIIEE ngomslee 8a®6Ro
(b) milgye @MVIAAY OAUAlEONR agesslRe @6NE + SMIISOleN] (UBCmMEBes M@ OBileanam
201SHEBRBIOS Gale)RWYDIE: GIO(UNIDYBUB
*© HMIRSA DalEIUIHOHINT DMIHO®@ MVaNIV]H6INB 1
GAUeNEl @@QYINIBSDIGIERMM EII(UNIDYBHUB
¢ 9ale@IGMINIEM®Ie SHMIISB aNIBUS HAUOIOM®0
enIMWle {leeomMmE8 @I BUB
(b)andlmS00e  @MV2AG HQICIONG *LISE:6BRUB
®96® OMIGlEaMAIITE ngo@meslaie @OENEMRo
« Operating system / Windows / Ubuntu / Gnu Linux etc
« Language processor [ Compiler [ interpreter 9 % 1

+ Utility software [ Compression tool / Antivirus software /
Disk defragmenter [ back software




11

What are the differences between CRT Monitor and
Flat panel Monitor

Any two points from each

CRT Monitor Flat panel Monitor
» Similar to old television * Thinner, lighter in
sets. weight 2x1
« Use more power * Consume less power
* Produce lot of heat. * Emit less heat.
CRT @@26m1Q®@ , 099 oM@ @R26mIQA ag)avilay 6396IMI@3 MlaM}e n@e@melelze @66NEEMo
@RS AYCOIETED 2O ? CRT c¢@06emlQd 039Q aloM@3 @@I6MING
s alv@aoel eseilailavad *  HMo HIOEIODIEN
OAVQIBUBHE) (TVAIMo
*  (32®o HHISIMELIEN .« @0 &3006
¢ BISIOTD OOAURRDS . @060 ©eaIaRd 2 x1
Dale@OUileIM DalEIUIEnM}
* BISIODTB Ialo ©  B06T @dalo
o 30qjs30ileem) al306qs3nileeam
12 Write any two advantages of flowcharts Any two from the following
+ Better communication
» Effective analysis 2x1
+ Effective synthesis
» Effective coding
a0G80210BSIHHSIOS aRBOMBIRe NS GRMHUB ®9261® @MIGleamnmMAI@d mlmmie n@emsslalle ea6EaRo
) $IORH +  dldg) @R allmlawoe
*  aDPIIRMI® QllUdd:eIMo 2x1

*  aDBl(lBAIQ TVAM|Qo

*  aDPIIBAIW BHHI6S




13 Name the following symbols and mention their (@) Rectangle 1/2
purpose in a flowchart Purpose - to represent process 1/2
(a)
(b) Terminal / Ellipse 1/2
~ — N Purpose - to represent start and stop 1/2
(o) .
@I6Y EBISIOGBIBEYMN BJ210B3 MiloeNILRESIOS
GalORVIONS. @RMION] DalB@INo af)aD) ?
(@) AldeelaloR®o [ al@}®o 1/2
(a) BIOMQ] GREUOLIS}OTIND 1/2
N (b) es@dalm@d |/ Ellipse 1/2
® Start, Stop )Ml GEAINSITIMD 1/2
14 Identify the step in programming in the following (a) Program coding / Coding 1

situations
(a) Writing a program using High Level Language
(b) Finding errors in the program

b) Debugging

@IOY alOIMA! BIIWIAIOM @D BERedleIneMATY
@@l 5Ol

(a) High Level Language 9ale@auila] @@l
)93}
(b) 8@} BWOAORI OHDYEUB BeNEIailSleaymm]

a) GO BHIWIES | edonwlers

b) alllenuylers




15 The following identifiers are invalid in C++. Write Id# - special character is used 1/2
reason for each . void - keyword 1/2
Id# , void , 2ab , sum of digits 2ab - first character is a digit 1/2
sum of digits - Space used 1/2
23QUOS OBISYOBIGEHRMMN ag)WFlaN@OYEBUD Id# - (@D allatMo Dale@IUIlHE6RMM 1/2
@RIVIWINUIENT. BIBGBIMIMIe BHIBEMo  f)PITRD:. void - &leaias 12
ld# , void ,2ab , sum of digits 2ab - @ROEc0 @R)E[ CPEHEAIW OaICIWEeMM. 1/2
sum of digits - Space 9aI1eIUIBERM} 1/2
16 Categorise the following into different types of result - identifier 1/2
tokens % - Operator 1/2
a.result b.% C.# d. float # - Punctuator 1/2
float - Keyword 1/2
@69 @mildlemmae allallwmee 8sIenemMdud |result - Hagawaglan@ad 1/2
@R @EeElee3s: % - 630a]C0Qd 1/2
aresult b. % c.# d. float # - alempEIQA 1/2
float - &lecualy 1/2
17 Classify the following into unary , binary and ternary
operators Unary operator Binary operator Ternary operator
&&, ?2:, !, ++ ++ && x 4x1)2

@96)¥ @GBSI 69¢|8NQME:08 @IMAl , HeERIMA]
, ©SBMAl ag)MIEBROM @0 MIEH6)H:

&&, ?:, !, ++

@Al 829J80QA

©66enMaAl 639¢]80QA

&SmOl 69]80QA

++

&&

?:

4x1/2




18 Write the syntax of variable declaration in C++. data_type variable name ; 1
Give one example Any valid Example like int a; /[floatb; /charc; |/ double d; 1
C++ @8 @) variable aflg@ad eaigpmalmess data_type variable name ; 1
MIROLIN 2GRS, . 603 2BIOCEM g OYE> Any valid Example like int a; / float b; /charc;/ double d; 1
19 Predict the output in the given C++ code, if p=7
a) p/=2; cout<<p; a) 3 1
b) p%=2; cout<<p; b) 1 1
P =7 ag)@ @69 @®MIFISS C++ CHIURBIOS
BMF0}S ) PAONDs. a) 3 :
a) p/=2; cout<<p; b) 1 1
b) p%=2; cout<<p;
20 Write four different C++ statements to increment the | x=x+1 ; 1/2
value of the variable x by 1 - 12
X++; 1/2
++X ; 1/2
X ag)m variable exd ailer amy @yg3u0m moel X=X+1; 1/2
Q@M@  C++ BERAODNRIE-UB )Y, xh=1 12
X++ ; 1/2
++X ; 1/2




21

Write the syntax of any one entry controlled loop . for( initialisation expression ; test expression ; update expression) | 11/2
{
Body of the loop ; 1/2
}
OR OR
Initialisation expression; 1/2
while( test expression ) 1/2
{
Body of the loop ; 1/2
Update expression ; 1/2
}
OR OR
Correct example of for loop 2
OR OR
Correct example of while loop 2
aRe®®sIele 6@} entry controlled loop &g milagossmy | for( initialisation expression ; test expression ; update expression} | 11/2
) PAOYD {
Body of the loop ; 1/2
}
OR OR
Initialisation expression; 1/2
while( test expression ) 1/2
{
Body of the loop ; 1/2
Update expression ; 1/2
}
OR OR
Correct example of for loop . 2
OR OR
Correct example of while loop . 2




22

The following do .. while loop displays the numbers
from 50 to 100. Pick from the following to fill in the
blanks .

(50,100, 101, ++, --, for, while, do)

50 1/2
P= e 7 (a) (a) /
b) do 1/2
........... (b) (6) /
{ (c) ++ 1/2
Cout<<p<<\t’ : (d) 100 1/2
Peveene ; (c)
twhile(p<=.......... ) (d)
50 2@ @3 100 QUOE@IBS (MVo6U(EHUB (IRG
Wlajleam@lmas do ... while eia]
£BISIOBIE6RMM].  (rIdEeIEd mlanie
OISO QSO BRI ali@le{lees:.
(50,100, 101, ++, --, for, while, do) a) 50 1/2
(b) do 1/2
P= e 7 (a) (c) ++ 12
........... (b) (d) 100 1/2
{
cout<<p<<\t';
[ R ; (c)




23 Consider the C++ code ..
switch(score)
{
case 1. cout<<"Passed"”; break; (a) Failed
case 2: cout<<"Failed ”; break;
default : cout<<"Invalid”; (b) Invalid
}
What will be the output if score has values .
(a) 2
(b) 3
O@MIBleeMM C++EH:00U al@lNEMIB6)H:.
switch(score)
{
case 1: cout<<"Passed”; break;
case 2:: cout<<"Failed”; break;
default : cout<<"Invalid”;
}
(a) Failed
@969 OBISIOMIGBlHLMA score M Qileld:ud @@l
M@l 0@ BDFaRS o) mID@IEe30 ? (b) Invalid
(a) 2
(b) 3
24 What is bandwidth? Name the unit used for Bandwidth - the amount of data that can be sent over a specific

bandwidth.

connection in a given amount of time.
bits per second (bps)

ag)m2em bandwidth? Bandwidth &g @genilg
a)Qm6N)?

mluailo oo dluailo aoweomeRes EE@EHINUIM
cag@Ees @PS8OIOM erudma AllA®ID) ag)m alO@IM.
bps ( enilgm’ ©a1d eTuenag’)




25

Name any four types of Social media.

Any four from the following

Internet forum |/ Ubuntu forum

Social blog / Blogger.com / Wordpress.com
Micro blog [ Twitter.com

Wikis [ wikipedia.com

Social network / Facebook.com

Content communities / Youtube.com

4x1/2

aBOO®s1R10 MIET M@0 BMIH(TD AUWIQBEOS Gald
) IOND> .

@96% @MIElecmMUITS Mlamie a@e@maslee MoeLIsRo

oMy cAGl::UB [ 96NIIENE BaNd0o

mamgaOle: @eRouRe-ud [ Blogger.com / Wordpress.com
DG GERIOURHUB [ Twitter.com

Qllesleud [ wikipedia.com

IR0y Wdjoeuel [ Facebook.com

O88SH6 MLN6ERU3 [ Youtube.com

4x1)2

26

Write two drawbacks of e-mail.

E-mails may carry virus

Junk mail

E-mail &0 agomssslege @6ns Gald@o@nde:ud
) 93OS

n-en@ilellees eeom’ enouwlenimes oW

208, OnAleRsud ( @RURIEIROOD HA®IRE:UD)

27

10

Explain EPS?

Electronic Payment System

EPS is a system of financial exchange between buyers and
sellers in an online environment

EPS alltedle-@dlens: .

Electronic Payment System

806N36e6LIM MVeQIlWIMDTITD OalBRIGMIN Qil@Ba]MEHIGM0
©@22@B NSO TVIMUC D> EDSlISIEUB




Answer any 10 questions from 28 to 48.

28 @™ @3 48 NIOEWISS @213(68BE @B g3 @®eslaize 10

PART C |Each carries 3 score(10X3=30) AG)GROTINT DOM@o G)PITRS:. 6396EINTIMe 3 MIBHIB PART C
aflme (10X3 = 30)
28 | 1 |“Computer is superior to humans in data processing |Any three from the following
“. How ?
* High speed 3x 1
* Accuracy
*  Huge memory 3
+ Diligence
» Versatility
BAWQ BIIMQIIEBEIEB SHMUISB DM (BRLHIUD @96 al0@IMAI@3 MlMe n@emesleije meMeRo
2l @6y, allueile@leeys:.
. BUOD
* OO 3 x1 3
+  agseo arlw eoncadl
«  mudlEEIEIaN.
* NIaOIMEUOSUBUNIWIo
29 | 1 |Find the binary, octal and hexadecimal equivalents |16-=10000, 1
for the decimal number 16. 16=20, 1
16=1044 1 3
16 ag)m eawmila@d mamudlead binary, octal, 16-=10000, 1
hexadecimal @}el6eRUd &:6)6Ns@E:. 16=20, 1
16=1044 1 3




30 If the Sign and Magnitude representation of a
number is 00001111,
a) Identify the sign bit
(a) y 9 (a) 0 ]
b) Identify the number
(b) fy (b) 15 1
(c) Find 1's complement of 00001111
(c) 11110000 1
63@3 Muotui@IeS Sign and Magnitude representation
00001111 @R@I@3
(a) Sign bit ag@oeny ? 0 :
(b) MG ag@@aereMMy Hr6N33allSleeyd:. I :
¢) 00001111 ®0@ 1's complement ©26mM3ds.
© X P 3 11110000 1
31 Categorize as input and output devices.

Input devices

Output devices

joystick plotter

joystick , scanner, plotter, printer, light pen , speaker scanner printer 6x1/2
light pen speaker

Input devices , Output devices ag)arileaoHm @o INPUt  ©ald>EEMEERUB OUutpUt Oald>EEMEBRUD

@Gl B6RSs..

. . . . joystick plotter

joystick , scanner, plotter, printer, light pen , speaker 6x1/2
scanner printer x1/
light pen speaker




32

Draw th
step 1
step 2 :
step 3 :
step 4

e flowchart for the given algorithm

:Start

=1
Print |
I=1+2

step 5 :if (I<=10) go to step 3
else go to step 6
step 6 : Stop

1/2

1/2

1)2

1/2

1/2

1)2

@96)¥ @GS @RTBENIGIMDTIONNG AE8I2100S
QUEQ B Es.
step 1 :start

step 2 :I=1
step 3 :print|
step 4 :I=1+2

step 5 :if (I<=10) go to step 3
else go to step 6
step 6 : Stop

Same as above




33 Identify the type of error
(a) Rules of the Programming language are not (a)Syntax error 1
followed .
(b) The program compiles successfully, but the (b)Logical error 1
output is wrong .
(c) The program was interrupted during execution. (c) Runtime error 1
@969 @MMIGBIERMD GO 6)OSq] error @REemaTy
) 930N Hs. (a) milagossmy ag)0d 1
(a) eIowdler ecenIEleng Mlaserud aloellalg
(b) @I VoRlO@I compile ©aIQ@}. aleo (a) cr19edlee @B 0g)Od 1
6130133 OHOQIE).
(c) Execution Ma@@0) G@ld(Udo @SOS}, . (c)oend ©6So ag)OB 1
34 What are the rules to define an identifier ? Any three from the following

Identifier is a sequence of letters, digits or underscore (_)

The first character must be a letter or underscore
Keywords cannot be used

special characters are not allowed

Space cannot be used

C++ is case sensitive

3x1

8@} 6af)WFlan@@ MBeZlecyemidud aloellessnsns
M26BBU3 wg)eTMEJI0 @REN ?

®26® @mMilcleanmaailad mlmmie agemsslele m3emeRo

@OOHOEBRUB , @RHEBRUB , BRENBAIVEH:0A ( _ )
af)MlQU@eS B@©} GUIEMIIEM Oag)WFlan@
£af)WFlaNA@ @RSEBBIMD) BREHPOHIGEID @R6NED
mies»00leeln (_ ) @ryaldlenemo .

SIBAUWLEUB DalEIUIEHIM 1IS}BSI®EY

(1B 2flaMEBBUE DalEWIUIEHIM 4 10S)BBOEY
Space @pMIBMIQAL

el @RHHUBEERSI 6.al0lQ BREHOEBRSBLo
QU@OMI@RIENT CH++ 9alE@IUIBRM@

3x1




35 a. 1 [true 1/2
if p= 12 and g=5, find b. 2 1/2
a. pl=q b. p%q c. 0 /false 1/2
. p<=q d. p/(-q) d. 2 12
e. p>q && q>=5 f. 1(p==5) e. 1 [ true 1/2
f. 1 [true 1/2
P=12 90 =5 9o @YEEMELITD BVFaS af)LICRE>. a. 1 [true 1/2
a. p'=q b. p%q b. 2 1/2
C. p<=q d p/(-q) c. 0 /false 1/2
e. p>q && g>=5 f. I(p==5) d. 2 1/2
e. 1/ true 1/2
f. 1 [true 1/2
36 Write the correct data type to store the following a. int 1
data 1
a. Age of a student in whole number . b. float |/ double 1

b. Percentage of mark of a particular .

student in floating point

C. char
c. gender as ‘M’ or ‘F’
@I6Y MIFI88 WY ME:HleM@IaY a. int 1
@RMIEDINWAIV BUQEOSq] af) LI
a. 8@} aflzpdmdlees QY «l3deR Moa@ilcd b. float / double 1

b. 8@} ailgpdmdlaes modesileng vemmadmo
BUBI0UBMOELIEY DT @D

c. ‘M’ @reg@Elad ‘F' g Slolailcd gender

. char




37

Write the names of any three expressions.
Give one example for each .

Any three from the following

Arithmetic expression

Eg ; a+b-2 a*b+c/2, etc

Integer expression

Eg 12+5*3 , 10*3+2

Floating point expression [ Real expression
Eg. 10.25+5.0 /2.0, 2.5* 3.0+ 4.5, etc
Relational expression

Eg: a<=b,a>b , a==b, al=b etc

Logical expression

Eg. (a<=b) && (a>c) , (a!=5) || (a==3)

( Listing of names can be given 1/2 mark each 3 x 1/2

Examples can be given 1/2 mark each )

3x1

aBOOBILRo DI af) BN (A laUMIHBIOS Gal@o
9B2aNEEMOUL af)YCRE.

®96® GMIGlEaNMAIMITE ngomeslege M3OMaRo

(c@BM (I UMIB-B16S BaleXEVIDII@D 1/2 mBH6Y fl@o ( 3 X 1/2),

@RAI® @GS (IGINEBBUD

Eg ; a+b-2 a*b+c/2, etc
alRBERAVEUD (A IBWINEBBRUB

Eg 12+5%3 , 10*3+2

8 Q95loUY Gald@ING (IBOIIEBBUS

Eg. 10.25+5.0 /2.0, 2.5* 3.0+ 4.5, etc
OlGRIAUEM @B (IGQINEBRUD

Eg: a<=b, a>b , a==b, al=b etc

LI BODD (A ICWINEBRUB

Eg. (a<=b) && (a>c) , (a!=5) || (a==3)

932aNEEMOIM 1/2 298H6) Qil@o )

3x1




38

What is the use of comments in C++?

What are the two ways to include comments in C++?

Any one point from the following

Comments are used to describe the program

Comments are used for internal documentation

The ways to include comments in a program are

Single line comment (//)

Multi line comment ( /* ............... */)

C++ @8 HAMRIHBIOS DalBWINOAND)? C++ @D
SHAFIBUB BalB@ENM@IMBS @6NE Bl@B>ud

aRBO®EYI0?

©®961® @MIGleanMAIIGE ngomsslee 8O0

G268 QilUoRElB:ElEeIM8s AIGIE:806NT
SHDOGIHUB

@RMEle allueemammol (internal documentation )
HAMFISUB OalEIUI BRI

60} GI(UIAITE HAMFIBU DUBESIOIM@IMBS MIBUNEBRUB

&8 udl &amg” (//)

auemWled &0 ([* .o */)

39

Predict the output of the following C++ codes if a=10

a) cout<<a++; a) 10 1/2
b) cout<<++a; b) 11 1/2
a=10 @RIMT MIOY HBISYOMIGBlHERMM C++
CHIURDEBIOS BDFal}S af)IORD 10 12

a) cout<<a++;

b) cout<<++a;

11

1/2




40 What is type modifier in C++? List the type modifiers | Type modifiers are used to alter the size and range of a data
in C++. type 1
+ signed 1/2
* unsigned 1/2
+ long 1/2
* short 1/2
C++ @3 ©6Sa] GRIUI0@OYEBUB af)mIEN ? 06Sq] GRIWlaN@NEUB BAWQI OMEBREOS Utilofo , al@lUll
C++ 021 66Sq] @2oUlan@0e:0d ellqy 6.21gRs o)l (&A1 &El0008 ©aleIUTlEERMUISETY. 1
+ signed 1/2
* unsigned 1/2
« long 1/2
* short 1/2
11 What is a control statement? Write the two types of |Control statements are used to alter the normal flow of
control statements. Give one example for each. execution 1
» Selection statement / Decision statement 1/2
Eg: if, if ... else, if ... else if ladder , switch (any one) 1/2
+ lteration statements / looping statement 1/2
Eg : for, while , do ...while (any one) 1/2
H6NBB(SIUB BANQOANG af)MIMTB a)AD? PENE @0 G190 MIBQYaNEMDTIOE! MVIWIEEMGIMIBE) AIQo
control statement & 038 a@e®QJoo? QO DalE@IUIBNRM (IMIDIUME-BI6M  BH6ENBESIUB 1
R9BEI OBRIOBEMo af)9LMAS BIRY O2MRIBUD ( WD (UMM 1B )
+ equaleud egueenany’ [ adlmflaum  equpeaag’ 12
Eg: if, if ...... else, if ... else if ladder , switch (Any one) 12
* DQROUM eauy &Ag [ eafler eqyg eoaag’ 12

Eg.: for, while , do ...while (Any one)

1/2




42 (a) What is a loop control variable ? (a)Loop control variable - the variable which controls the
(b) List the different components of loops in C++ |execution of a loop 1
(b)The Components of a loop are
+ Initialisation 1/2
+ Test expression 1/2
+ Update statement 1/2
+ Body of the loop 1/2
(a) Loop control variable ag)(ma@d ag)o) ? (a)eRe] ®6ndasoud cudlwenilud - eRe{log (IIRTME T
(b) eRejiesies aillallw opISE:68B8U8 @O0 le@oilem eaudlwenilud 1
(b)eRaflong ceise-earud
¢ (aI0®or Qllel M@BE-@3 1/2
¢ al@lGUBIWMI (IG@IN0 1/2
¢ @l HE@EOTD (IMS@®IUM 1/2
+  elaflong aigeems 1/2
43 Classify the following networks based on the area
covered. a. PAN / Personal Area Network 1
a. Your computer connected to a printer. b. WAN /Wide Area Network 1
b. ATM network of a bank c. MAN [ Metropolitan Area Network 1
c. Cable TV network in a city
80 6MQAIBLS 2U8HEHISSIM QllMI@IBEROTIOHNG
@RSIMNIMDTITEE @I ORI OMYUBEENBUB
2FTROM Do GGl ? a. PAN / Personal Area Network 1
a. mleEngles &mIRSE @ilafoyaowil eeme:s b. WAN /Wide Area Network 1
6.21QROM3 .
c. MAN [/ Metropolitan Area Network 1
b. 8@} enossley ag) Sl aglo OMQ UBSHE)
c. 8@ milglessglerl esenilud S| all emg aid
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44 Name the device used to connect two computers Modem 1




using telephone lines. Explain

Any two points from the following
« Modulator demodulator
» Modem is a device used for communication between

computers through telephone lines 2 x1
+ Modem is used to convert digital signal to analog
sighals and analog signals to digital signals.
©6N3) B0al{ISOIBUB OSLIGANINM OSLING Dale@IUily] | BRIW. 1
enITWla leenm@ilay mano@leanmm Dald:e6mo a@® ? | @36 @MIGEleanmMA@IG3 ngomeslee eae6nzeRo
QllveBdle@l 860 * GROWGRIQA (USlemIGRIQA
*  ©SEIG.NINT HNRINT DalCIUIa] HMIISOIEUB @@
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45 List four services on the Internet and explain any «  World Wide Web |/ Web browsing [ Browser
one of them. + Search engine 4x1[2

e E-mail
* Social media
Any one explanation from the following

*  www - is a system of inter linked hyper text documents
accessed via the Internet

*  Web browser - a software used to retrieve or present
information and navigate through web pages in www

*  Web browsing - traversing through the web pages of
WWW.

» Search engine : special programs used to help people to
find information in www

* E-mail - Electronic mail - method of exchanging digital
messages between computers over internet

» Social media - refers to the use of mobile and web-based
technologies through which individuals and communities
can create, share, discuss and modify content.
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46

Name and explain any three cyber threats.

Any three with explanation

Virus - a program used to corrupt or delete data on our

computer [ the program that interferes the normal
behaviour of computer

Worms - a program used to consumes bandwidth and
slow down data traffic on network

Trojan horse - appear to be useful software , but it will
damages files in our computer once installed

Spam - Junk mail

Hacking -is a technical effort to manipulate the normal
behaviour of network connections and connected
systems.

Phishing - Acquiring user name password , credit card
details etc by creating fake websites

3x1
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47 | 10 |Online Learning education has gained importance |Any three from the following
in the Covid Pandemic situation. Explain different +  Electronic Book Reader (E- Book Reader )
types of e-Learning tools available for online . eText
education
+ e-Content 3 x1 3
* Online Chat
* Educational TV channels
8B>00flW QUPIMDTIONNG AlUDUICHEIGTIES 306N3 @96 al0@IMAI@3 MlMie n@emesleijo meMeRo
o6e1m allapeEEMEDIY @Pwimead] aieyM}. 606M8 |« Electronic Book Reader (E- Book Reader )
6.0 o:?e‘gorg\gocmmﬁm” mano@flesm ailailw eo- . eText 3% 1 3
gelemloV) S)BIBUB aBO®EJ0 AP
* Online Chat
* Educational TV channels
48 | 10 |Write any three challenges to e-Governance Write any two from the following
» Possibility of cyber attack
* Huge initial investment and planning are required
» people with lower e-Literacy will face difficulty to access | 3 x 1 3
e-Governance services
» People are anxious about sharing of personal information
* Integrity of various departments is essential
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PART D

Answer any one question from 49 to 50.
Each carries 5 score(1X5=5

49 m}@ @3 50 NIOEWISS @2193(6BRSEI@D nge@maslelze ssalay
DOM@o nG)PIONS: .
6396EIMIMIo 5 MIeE:9@ aflmo (1X5 = 5)

PART D

49 | 2

(a) Define e-waste (1
a) “e-waste is hazardous to our health and
environment”. Justify the statement. (M
c) Explain commonly used e-waste disposal
methods? (3)

(a)E-waste : Electronic products at the end of ‘useful life’
(b) E-waste contains toxic substances like mercury, lead,
cadmium

etc.. which may cause health problem E-waste will
contaminate / pollute the soil, water, air
c. . E-waste disposal methods
Any three with explanation from the following

+ Reuse - Second hand use

* Recycle - making new products from old one

* Incineration - burn at high temperature

* Land filling - bury in the soil
( Listing only can be given 1/2 mark each 4x1/2)

3x1
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50

In order to form a network of 5 computers in the
School Office

a. Name and draw the topology that uses
switch to connect all the nodes. (1 1/2)

b. Name and draw the topology that ensures
direct connection between every node. (1 1/2)

C. Which would be your choice between the
two? Why ? (2)

a. Star topology

C.
Star topology
Any two from the following

+ More efficient

» Easy to install.

+ Easy to diagnose faults.

+ Easy to expand
OR

Mesh topology
* Network will not fail even if one path between the

nodes fails.

1/2

1/2

2 x1/2

OR
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